Diesel Depot Inc

9024 S Oketo Ave Bridgeview IL Illinois 60455 U.S.A 7086556852 ozalewski25@gmail.com



INV-00063

Balance Due \$0.00

Invoice Date: 18 Nov 2025

Terms: Due on Receipt

Bill To

Lester Volvo Due Date : 18 Nov 2025

#	Item & Description	Qty	Rate	Amount
1	Flywheel resurfacing and new pilot bearing	1.00	120.00	120.00
2	D13 Rear Main Seal	1.00	173.86	173.86
3	Group 31 Heavy Duty 950 CCA Battery	4.00	109.23	436.92
4	Labor Charge Mechanical Labor Mechanical Rate per hour, remove and replace 4 Truck group 31 batteries, repair two harness terminals and fuse holder. Repair battery tie down studs and nuts/washers. Labor charge	1.00	120.00	120.00
5	l shift actuator clutch hose	1.00	76.77	76.77
6	D13 Engine Mount	2.00	213.23	426.46
7	I-shift transmission harness, TCM to chassis harness oem Volvo Transmission harness, from transmission control unit to cab /chassis controls. Old harness had splice and pinched line, one connector to pto switch broken and inoperable	1.00	232.25	232.25
8	l shift Volvo transmission oil filter kit	1.00	42.00	42.00
9	Volvo TCM top end gasket kit Volvo TCM top end gasket sets, aftermarket includes both gaskets, green paper set and black metal gaskets, new orings and valve body actuator gaskets.	1.00	176.23	176.23
10	I Shift cooling lines, return and feed oem Volvo Plastic oem coolant feed and return line. Goes from oil cooler on transmission to engine cylinder head. Special connection fittings.	1.00	252.39	252.39
11	I Shift clutch assembly Volvo I Shift Clutch assembly	1.00	917.36	917.36
12	I shift clutch actuator Volvo I Shift Clutch actuator sachs brand	1.00	595.00	595.00

1

#	Item & Description	Qty	Rate	Amount
13	Input shaft I-shift seal Volvo I shift input shaft seal	1.00	51.37	51.37
14	Labor Charge Mechanical Labor Mechanical Rate per hour, Remove and replace clutch assembly, remove and replace clutch actuator and supply hose. Remove and replace transmission to cab harness and connectors. Replace input shaft seal, reseal TCM top end, new gasket. Replace rear engine main seal. Total labor for transmission repairs including clutch programing and diagnostics.	11.00	120.00	1,320.00
15	75-90 synthetic gear oil 5 gallon bucket Volvo I shift Transmission Gear Oil synthetic. Complete trans flush and refill during repairs was completed	1.00	209.12	209.12
16	Labor Charge Mechanical Labor Mechanical Rate per hour, remove and replace rear engine motor mounts L & R side during transmission repairs. Additional labor required 3.0	3.00	120.00	360.00
		Sub Total		5,509.73
				\$5,509.73
		Payment N	/lade	(-) 5,509.73
		Balance Due		\$0.00

Notes

Thanks for your business.

Total Labor billed 15HR

Diesel Depot Inc

9024 S Oketo Ave Bridgeview IL Illinois 60455 U.S.A 7086556852 ozalewski25@gmail.com



INV-000075

Balance Due **\$0.00**

Invoice Date: 26 Nov 2025

Terms: Due on Receipt

Bill To

Lester Volvo Due Date: 26 Nov 2025

#	Item & Description	Qty	Rate	Amount
1	Volvo Front leaf spring bushing	2.00	46.73	93.46
2	Volvo Leaf Spring Pin Front leaf spring threaded pin with grease fittings	2.00	91.27	182.54
3	Labor Charge Mechanical Labor Mechanical Rate per hour, replace Passenger side rear leaf spring bushings and threaded bushing pins. Clean mounting holes in spring assembly, repair and refinish spring hanger hole and mounting plates/holes	3.00	120.00	360.00
4	Volvo airbag rear, center stud style	4.00	95.00	380.00
5	Labor Charge Mechanical Labor Mechanical Rate per hour, replace 4 rear suspension airbags, clean under frame where airbags mount, remove rust pockets prior to new airbag installation, new nuts for airbag studs x8 ,replace 2 cab shocks. Reused bolts and nuts, cleaned prior to installation, anti seize applied, remove and install passenger side quarter fender,total labor 3hr	3.00	120.00	360.00
6	Volvo VNL Headlight assembly Driver New	1.00	170.00	170.00
7	Passenger side headlight Volvo used	1.00	50.00	50.00
8	Quarter Fender Kit New passenger side quarter fender splash guard and mounting pole with hardware	1.00	55.00	55.00
9	Volvo VNL window switch assembly new Driver door mounted complete window switch assembly.	1.00	60.00	60.00
		Sub Total Total Payment Made		1,711.00
				\$1,711.00
				(-) 1,711.00

Notes

Thanks for your business.